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The accounting identity problem 

• Cobb-Douglas (1928) 

 

 

• Solow (1957) 
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The accounting identity problem 

• Cobb-Douglas is a reformulation of an 
accounting identity (Phelps Brown, 1957) 

 

 

▫ With the condition that α is constant over time 
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Possible way of not teaching TFP 

• Use of labour only 

▫ Keeps the distinction between the different causes 

 

 

 

 

 

▫ No accounting identity problem 

 

Economic growth 

Increase of labour (which 
involves increase of capital) 

Increase of productivity 
of labour  



Possible way of not teaching TFP 

• Objective: distinguish the different causes of 
economic growth 
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Conclusions 

• The way the increase of total factor productivity 
is measured is wrong 

 

• We can do without TFP if we want to explain the 
different causes of growth 

 

• We should not teach TFP ... but we have to 
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